Some special continous distribution:

2- Gamma distribution:

A random variable X is said to have a Gamma distribution ifit's p.d.f is given by:
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And writes briefly : X~Gamma(n,8)

Remark:
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[L=(B-1)I5—-—1)=4T4==4+31=4x3x2+1 =24
1

3-T(3) =0

Is clearly that :

1-f(x)=0 for all a<x<b
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The M.G.F. :
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The variance :
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Example:

Find the result of the following:
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Solve:
since : I, = f: e Yy*ldy

1-f0m e Vytldy »y*l=y*>50x—-1=4—>0a=>5 then:
f eVy*dy =I5=(0—1)=41=4+3+2x1=24
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Example:
IF x and y and Z have Gamma distribution with the following p.d.f:
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Find p, and o7, .



Solve:
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Since X have Gamma distribution then: uy =§

and since :
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then: @« =5 and 9=§
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2- Homework

3- Homework

Homework:

IF X have Gamma distribution :
f(X)y=CX*e 3% | X=0
Find value of C.

Homework:

IF X have Gamma distribution :

35 Xcl- 8—3}(

fX) = >4 ,

, 1
X >0 Find E(3)

and o° =

g2



